
Isobarico Isotermico



Proponemos

“esferico”

















(volumen escaleado)

Proba



Tenemos la proba de un volumen V para N particulas



( M−N
V 0

)=ρ

PV=NkT=
N
β

⇒ βP=
N
V

=ρ



Recordando que 

V 0

(M−N )
=

kT
P

=
1
βP

⇒βP=
( M−N )

V 0

⇒β PV= (M−N )
V
V 0

y
(V 0−V )

( M−N )=V
0
(M −N )(1−

V
V 0

)
( M−N )

≈V
0
( M−N ) (exp (−x ))

(M −N )

                     =V
0
(M−N )(exp(−(M−N )

V
V 0

))=V
0
( M−N )exp(−β PV )

(V 0−V )
(M−N )  =V 0

(M−N )exp(−βPV )



(integrando sobre el volumen V)
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